Puzzle 13849 - Wednesday, 04 January, 2017 - Difficulty 3

12 9 | po 17 1
9547|2186 |3
| :l’o"’”ffffff,: Lgi::‘”‘liéili:::i7‘7]:3””: “1’2’11"’,111:1:111:
312 |85(69]|4|7]|1
T e N A N O A
6 | 71 [3 8141259
IR A ‘

419 2}}6 S| 7113 8:
éi- ,,,,,,,,,,,,,,,,,,,,,,,,, ] ’?;’" :iiiii?{éfﬁ, ,,,,,,,,,,,,,,,,,,,,,,,,,,,, ] ’6"’ —
1135|1819 |2]|7)4]|6
’2’1 ””” 1 ’4"" fff:::,} ’8’,1111,,::::::: :{4’”" :1707:73”677::‘
71861143592
,iiii:”{é:i f:i::{’{(’)”"""l’{:’h i i i i
8|6 72359 1|4
%ffff:,‘ ;’0”” :iiiii,i : i i : : }’éi" ——
211|947 |6]3|8]|5

’7’,::::::, :lé’i” ————r—F ] ’5’1111’,11:11,’,’,11:
o439 j1/8]6]2]|7

Copyright (c) www.dailykillersudoku.com



